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SECTION -1
LELEAE |

CHILD DEVELOPMENT AND PEDAGOGY
aret faaa ud forammemea
There are 30 queslions in all in this section.

All questions are compulsory.

W EE H Fe 30THE |

|t 7o sAfEe €
‘Toy age’ rcfers to
(A) Early childhood B} Late childhood
(C) Bahbyhood (D) all of these,
‘Tl Wt o’ weT S &
(A  E e (B) W SedE
©) VyrErETy F: (1) - e =l
Which of the following is not a characteristic of early childhood ?
(A} Pre-gang age (B) Imitative age
(C) Questioning age (D)  Play age.
e F O - g sreaEen st fodvam 7€ € 2
(A) T/ WYE H WA H STEEd (B)  STTHO F1A i ST
(C) T =TT Fr e (D) W I ST |

L-1

In late childhood period children understand the conversion of which physical

entity(ies) ?

(A Mass (B) Mass and number

() Number (1)] Mass, number and area.
TR g ¥ e difaes awgell % e avavas 9@ 4 ufieds s e € 7
A) FEER (B) F=AHM 3R wEem

© ¥ (D) TETH, TEm H a8k |

The meaning of development is

(A)  progressive series of changes

(B] progressive series of changes as a result of motivation

(C) progressive serics of changes as a result of motivation and experience
(D) series of changes as a result of maturation and experience.

forr o ol &

(A)  wiEEAl I @

(B) AMITIN & Fera®Y g A Uit w S SEEen

() SAITN W ervd & Ferawd B oo qiEdl $1 Ia grEen

(D) WRIoE U 9TVa & WerRawy g1 9Tl WiEl & AwEen |
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A
(B)
(©
D)

4 A

Which of the following statements is not correct about development ?

Each phase of the development has hazards
Development is not aided by stimulation
Development is affected by cultural changes

Each phase of the development has characteristic behaviour.

e Ewed T A= i a eR-w T g e & ?

(A)
(B)
(€
(D)

fam™ =1 Y e F A9 |l §

forerTa Soar ¢ sl 3 A T o 2

Tawma gie fasr ofad= & wwfaq € ®

T =1 v amEeen wt AT e Bt ¥

6. Which of the following development tasks is not appropriate to the late childhood ?

A
(B)
(©)
(D)

Learning physical skills necessary for ordinary games
Achieving a masculine or feminine social role
Achicving personal indcpendence

Learning to get along with age-mates.

= F 9 w-T faarrs 4 I s & IS TR § 7

A
(B)
(©)
(D)

(A)
{B)
()
(D)

e o ferifam Tt frel = wm W
Fafes sl o s
A THIY AIAH! F WY @A g |

Training in advance of normal maturation is generally

highly beneficial with respect (o performance of the common skills
harmful from an overall point of view
beneficial from a long range point of view

beneficial or harmful depending on the method used in training.

T TR | TR WA S Y

Y
(B}
()
(D)

Wﬂﬂmﬁ#ﬁmméﬁﬁzﬁﬁagﬁwm%
o faen X Tifsne dim @
Zideifas gfe & v g 2

TFERT B A eRs, 98 37 W R = € fF afvem A fro ven &) fafa s g9m
fFarm &
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5 L-1
Five year old Raju is watching a storm from his window. A huge bolt of lightning is
followed by a tremendous thunderclap and Raju jumps al the noise. This happens
several more times. There Is a brief lull and another lightning bolt. Raju jumps in
response to bolt. Jumping of Raju is an example of learning theory of

(A) Classical conditioning B) Operant conditioning

(C) Trial and Error - (D) None of these.

g a4 o1 T T fagwt F A qem w1 dam ¥ o faset wamewdt § it wEes #1 am
A & 1 TS TR YA H IT@A § | TR-GR Fg w2 A et ¢ | R He < i & wvea fawed
Fehat & | U5 faoel &1 ol e Ied € 1 T 9 Iee e & e fagrs 1 ssmm
L

(A) W STEERE (B) Terammym s1qe=H

(C) 7S W D) &9 | FE =& |

Which of the following is an example of positive punishment ?

(A) Redicule by friends (B} Loss of time with [riends
(C) Cease nagging (D)  All of these.

HFEHF T08 FI {49 H § $I4-W Iew & 7

(&) it & gm 3wEw (B) o3 % wiy wug 9= =
() H=HE FHee =5 w5 (D) T4 9 |t |

Which of the following statemernits is not appropriate to motivation as a process ?
(A) It causes a person to move towards a goal

(B) It satisfies the person’s biological needs

(C) It helps in achieving a psychoclogical ambition

(D} It keeps away from an unpleasant situation.

1 # A - wem TR v 9w F wRd W IvgE W § 2

(A} T% e F A i FR A IR

B) g =fe =t yiifis smavgwast =t wgfe s

() T FASEITE IATHEn S WH T ° HeTdar S ¢

(D) % =i & Afva fefa A g m@a ¢ |

The temporary change in behaviour due to continuous exposure to stimuli is called

{A) Habituation (B) Learning

(C) Temporary learning (D) Motivation.

foeht S8 ¥ =R i 91§ R # ¥ aren owRgRl ofteds wganr @
(a)  aTvIEar (B)  afyw

(© o= afanm (D)  aAfason |
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14,

15.

6 [a]
The teachers should not use which of the following ways to change the attitudes of
students ?
{A)  Coercive persuasion
(B] - Repetition of idea or assertion
{C) Endorsement by an admired person
(D)  Association of the message with a good feeling,
Taenferai wt sifigfaat ¥ giads o foau = 9 @ fow fafu o @ syearos &1 =121 oo =fe 2
(A) <eE | fwet aw@ @ frer & foag ust w e
B) fre faam ) Sev svan JeargEd SHaER
(@ fFet vy =afE & g7 gudA v Wi
(D) EW < WY WEwd W w0 )
Which of the following statements regarding achicvement motive is true ?
{A)  Achievement motive is necessary for survival
(B) If the salisfaclion of personal polentialilies is emphasized, the achievement
motive may be classified as a growth motive
(C) If the stress is on competition among people, the achievement motive can be
considered a social motive
(DY Al of these, :
Imien AfRE F T § A Y I Fm R R ?
(a) SYetE FRnRE wifad w % Ay e §
B) A =i amaE] ® wiE veayyl € 9 I AfuitE =) S R RS wEA 8
() aft =twdl & g wieEfa w e R, 9 STae Ayl w1 amEifes afyiTE w91 o

O TH A=A

During 6 to 10 years children start taking interest in

{A)  Religion (B} Human body
(C) Sex (D)  School.

6d 104 =t e B Aot BfE T AR o ¥

&) wdH (B) Ta TRR H
(€ =@ T A (D) faemeEm #

Which theory believes that human mind is like an iceberg mostly hidden and has three
levels of consciousness ?

(&)  Trait theory (B) Type theory

(C) Psychoanalytical theory (D) Behaviourist theory.

S e o Fe  7F A Tiees T 9 9 9@ vgE 6 § 5 5 s o
w2 v e A F A T E 2

@& T fagr B) WK fag=

(© wErfEwTIRRE fers (D) =HEErErR fAgr= )
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16. Some people say that whenever anger draws upon children, they go to play. Until they
feel better which of the defence mechanisms is represented by this behaviour ?
(A}  Projection (B  Displacement
[C) Reaction formation (D}  Sublimation.
FEAM M FENE S AT T AMEN I GT F e o & | 99 o 5 =2
q 9= Hegd T8 #, 39 Saer ¥ e f ¥ %19 v o= whefm s € 2
(A) W&o (B - Tawmm
[ wiafw= Fmm (D) IS
17. Adjustment means accommeodating oneself to various circumstances in order to satisfy
(&) others (B} motives
(C}] doals (D) needs,
TR § e e w fafis oftfeafl § sagen s € ot o e o
(A TE W B U
€ == (D}  sTEvTE@mEd w |
18. Which of the following behaviours is not a manifestation of emotional disturbance ?
(A) Delinquency (B) Bullying nature
(C) Truancy (D}  Autism.
e # A FH-W AR qIFARTF T FL W1 T w7
(4) 9T 3T (B) Wi 1 SO aren
(€ TSt (D) T |
19. A provision for education for the children with disabilities can be done through
(A)  Inclusive education (B)  Mainstreaming
(C}) Integration (D) None of these.
f3rE et Y foen F ferg wawm few = e 7
(A) TEEfE e g B) TS U T T
() TR BN D) ¥ 9w T
20. Which of the following is not a characteristic of mental retardation ?
(Al 1.Q. between 25 to 70
(B) Learning in a slow pace and unable to do the activities of daily routine
(C)  Poor adaptation with the environment
(D)  Poor interpersonal relations.
e 9/ FA-Ht T vem # fawma =i ¥ 2
(A dfg @I 259 70 99 €A
B) #nf nfa & daw 1@ L Sam 5 frasd 9 w5 o
(C) SrAE & WY SFem B Fiors
(D) SRFAFHT T F1 FIAR A )
(TR 101 [ P.T.O.
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21.

22.

23.

8

Which of the following i{s more important for keeping the good mental health of
students ?

A) Provision for curricular activities

(B) Freedom of expression

(C) Variety of interests

(D) Teacher's role and school environment.

farenfeiail % = AR w@mRon F A T 3w f § A HE-E i e T 2 2
@) e Trmsl w1 gaum

B) =l @i e

(C) B = o

(D} 3¥eETgs = iR v ferradll amEe |

‘Child belenging to weaker section’ means

{A) A child belonging to such parents whose annual income is low

(B] A child belonging to such parents who come under the disadvanlaged group

(C] A child belonging to such parents who come under the category of below poverty
line

(D) A child belonging to such parents whose annual income is lower than the
minimum limit specified by the appropriate government.

‘AR T % A | Ao §

@ @ sfuyresl F aeE 9 ol aftfs s+ 8

(B) TF wifasiasl o ses 4 S ofgd o § ad #

€} TF sfaaEsi & Ses § o e E A w5 g oo E

(D) T wfasEst & Te | | WaER g Pifa =pan @ e aftw e et dm A R %
Cul-c oA

The Right to Education Act, 2009 specifies that if the number of children admitted for

first class to fifth class is above two hundred then the pupil-teacher ratio required is

(A thirty B}  forty

(C) forty-five D) fifty.

Toen & stfvar arfafrem, 2000 # 51y fFa = 2 fa =am- 1 & Fan-5 o= o W&o @
ferenfl =t dem <t |t & sfs €, 97 foenefi-stearss smaws sro@ g

(A) 4| (B) =
() TaEms (D) 99H |
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25.

26.

27.

9 L-1
Which of the following statements is incorrect about action research ?
(A) 1t is conducted by teachers and educational professionals
(B} It is conducted to solve a specific problem
(C) It is conducted to provide information for decision making at a broader level
(D) It is conducted to focus on the solutions of day to day problems at local level.
fFams sE T S T A A T A FR-m A R TR R 2
(&) T® JATF| d fan sEmE @ 92 |l & g fea S @
B) e fwe fafire wwwn & waym & fo foa s
() = ®R R o & & forq gom dees = & Tad foan s 2
(D) FFTE &R W U & eaened & waE & ford frarere sramae o smar
Which of the following statements is not true about teaching ?
(A)  Teaching is modifiable B) Teaching is formal and informal
[C} Teaching is a science as wellasart (D)  Teaching is instruction.
fAfdsi-wsr M g vg & ¢ 2
(4) Toeror & gur faar < w1 B) foaw sityaifte v adgafis @
() fasw fogm & Wu-wWy wen off ¥ (D) foao arEAYA ¥

The National Curriculum Framework, 2005 under the heading ‘quality dimension’ gives
more importance to

{A)  Physical resources

(B) Qualified and Motivated teachers

(C] Experiences designed for the child in terms of knowledge

D) Experiences designed for the child and curriculum reform.

T reT=El @, 2005 H orEwn oA’ ¥ & stia stfus mee fom o @
)  ifas gErE =

(B) Tofem vd sAfimfE sl =)

(C) weThi & fore 98 & e # wifoa vl &

(D) =l ¥ fee Gifed omve e TowHE gur @ |

The National Curriculum Framework, 2005 suggests which of the following
examination reforms ?

(A) Class X examination optional

(B) State level exams to be conducted at different stages of school education
(C) Competitive entrance examinations optional

(D)  All of these.

LT 101 [ P.T.O.
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28.

29.

30.

10 A
TETa = T, 2005 ® A 9 e wha vl gunl =) gaen e @ 2
(A} - X 1 glen s ,
B faarerdt finen =t fafim srEeensdi W T WX F 1den g9
(C) wiganit was viena o ifsss
(O} T Fadl
Reducing stress and enhancing success in examination necessitates
(4) A shift towards shorter examination
(B) Examinations to be conducted at different stages of school education
({C) Annual and half yearly exams
(D) Setting up of different agencies for conducting entrance exams.
TAE Y FH HE ud el § awem ¥ fau sravaw #
(A) Y AFY B Wi § AR
(B) faerer=t fnan = fafim =i § wianedl 1 Eem
(© onfifer wd srganfiies wited
(D) fafim waw vianst ¥ fom fafim o= %1 ©ren |
The purpose of evaluation is
(A)  to label children as slow learner and gifted children
(B) to identlfy children who need remediation
(C) to diagnose learning difficulties and problem areas

(D) to provide feedback on the extent to which we have been successhul in imparting
education for a productive life.

T & T

() TEE F el S d@es I@ @ wfaaeet aes S w9 5 a9 w5

B) 97 sIo=l =) STSRES e ) SEvasEdl €, S99 UgEE S

() oiferm =+t Fieeal 9 woTn G &= 1 g T

(D) IR Sftad S & fag fen fre Him o AR % wé &, = IfEee weE w1 |

For primary school children, which of the following is better ?

(A)  Video stmulation B Demonstrations
{C) Hands-on-experiences (D) All of these.
e feraneri & werrt % fog Fre F R e 5 € 2

(&) Tarn sgEam B wEu

() w4 & g fF= T sva O T [

(T 101
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T EE H FA 30T E |
|t v wfFead €

31. ‘faueg’ v H 2

(&) =y (B)  =Fed gy
(C) fawt =fy (D) T A FE T

32, ‘uaa’ = F1 Afu-fawie 2
A 9+ 94 (B) g + 3H
(C) °+ 3H D) g+

33, feidagaem ¥

(A T (B) =
() dm (D) =0T
34. 'HPW' F: AgAEA g
(A)  #PE B) @
€)= (D) @ga=a TE B

35. o wredi 0 wam & sEn wE yiEdq 78 2 & 3% gl W 2

(a) U= B) fa=wd vw=
(C) s v (D) WEEY |

36. Y= % 9el 9 % 999 Hiaw .
() fHom B) fafrem

[Cy 9w (D) gwm |
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37. ‘=wfa’ w1 =it =9 2

(B} wfa

© FafEh (D) et |
38. weF ¥ A w= < o F forw e wfteds % 9w e E weem #

() HEp (B "=

(C) d=m D) =)
39. w4 fFd T ° S o 99m ©F Of STl med §

() EE W ® f& =

©)  Fu™ Ay (D) agEY WA |
40. TB W= E

() S B I¥Ed

(€ S9ae (D) 3vEd |
41. ‘ICE" = fomm v ¥

(A IWE B fams

© = D) &TH® |
42, A Ao o oem € ?

(A IR, ueE, Sy, w1 (B) W8, §q, HIEl, HERR

€ m, T, R, =% D) gy, =, @, w
43. fFRv= ® ‘5 7ol & 2

(A FET B) TV

© FFA D) e
14, ‘A rmEmmEn FE = g 7 ?

(&) A B =

€ T=g D}y HE |
TR 101
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45. foa¥ ween w2 deamEs & o S fed g favm = 9w e 38 e §

(&)  Fdur3 wEE B) 7% o

(C)  ZredamE whrE (D) fam =
46. FF UOH E

W B Hug

(€ F-An (D) wrOrTE |

47. 'R H @4 aren’ 1 w@l 9 8

&) wed B) A

€) THEEY (D) Ao
48. wifqaras €1 92 §

() dvE (B @

€ =g D) =% |
49. 71 4 4 foa amm § 9weF e © 7

@A) ﬂﬂ.mémaagaqr% (B) U9 R WA @ E

(€) T A i it wre feg (D) fFeR em §
50. 'A% @d: E 9 9o’ H 'qg’ wEam & |

(A)  gEWETTE TEAH B) @ wdam

(C) FE-aEF oA (D) FFEvETETEE g9 )
51. Hg® fF7 F1 IgeI0 wF 959 £ 2

(A T e T (B) i wE @R

(©) 9 hfEs vg s w0 (D) @ =R
52. ‘®rA’ T HYAw' g fEwE wed 2

(A) S e E

(B) TorEs e e | wum 0 A Wi
() fored uw i @ e fEand 7
(D) forad v wiva, uF fadg ok uw & Ay
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53. ‘HEA NG M@ Ma=a 4 I &

W T B iR
(O) I SA (D) TR |
54. A # & fafga s @
() W E W E ® ¥ 9gm § it 9w gem @
© IR TEmE D Tgrtfedmama®E
55. Pt s TR I sn T T fam e s W fFmr s § 2
(a) faorggEs 98 (B}  ofgo<o 41 35w (9
(C) vyvErEs fus D) Frivw o
56, @ fom fael amn a9 #
(A) S A R, wE 2 (B) S wF e s ¥ Rl ¥ ?
(C) S T A A E, FEE (D) W U=, A A2 Y, FEE |

57. 'O @ WRA @ 9 .| qE A Tew et | qof g ?

(@) H \ed sEmH W ugE ™ B)  H e T # sa

) 7 rmm fm W Zar fomn (D) T W™ @ T )
58. WEl Heraw €

(&) A= i) enmn (B) ATE § YW W

() oirEl F ye g (D) = ¥ F=U A |
59. 'TY ¥ A’ TH gEL W e o4 €

(A}  umg H 9 I (B) 9ET 91 BT

() &l w1 =W w (D) 71y HEn

60. ‘fm fer =’ =1 2tfmr @

() SERL SN B) SEWEH W W
(© HLEE R D) R} g I AT
WA ERERREN 101 |
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SECTION - II
LANGUAGE 1
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory,

Choose the corrcct order of words :
(a8} Do you live where ? (B) Do live you where ?
(C) Where do you live ? (D) Where you live do ?

Which of the following has a correct sentence pattern ?

(A)  He gave her a book. B) He gave a book her.
(C) He her gave a book. D) He a book gave her.

Complete the following sentence with the correct option :
The sky suddenly became ..........cooviiiiininns o

(A)  darkly (B) dark
(C) darkness (D) darken.
Which one of the following words is a noun ?

(N Write (B) Wrote
{C)  Written (D}  Writer.

Supply the correct pronoun :

Arun and Lata have a house. ........................ house is quite big.
(A} Their (B) His
(C) Her (D)  Theirs.

Pick out the verb from the following :
(A)  Creale (B) Creation
(C) Creator (D)  Creativity.

Selecl the correct verb form

Sachin has .................... many records.
(A) brokened (B) broken
(C) Tbroke (D) breakened

AEITEERN 101
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38. Fill in the correct form of the verb :

The train had left before [ ...........cevveeees the station.
A reached (B) had reached
(C} was reach (D} was reached.

39. Complete the following sentence

Ifore ..ooiivineriaresase.. @ lottery, we will buy a car.
A will win (B) have won
(C) won (DY wirt.

40. Supply an appropriate determiner :

I have .oviciininncniennens glass of milk every morning.
(A)  the (B) a
(C) any (D}  some.

41. Supply an appropriate determiner :

My neighbour is ...l honest person.
A a. (B) an
(C) the (D) any.

42, Which one of the following sentences expresses ‘possibility” ?
There are dark clouds in the sky. ... .
(A) Tt will rain (B} It shall raiﬁ
{C) It may rain (D) It must rain.

43. Pick out the sentence which has the meaning as the following :
No other animal is as brave as the tiger.
{A)  The tiger is a brave animal
(B) The tiger is as brave as any other animal
(C) The tiger is the bravest of all animals
(D) No animal, except the tiger, is brave.

44. Complete the following sentence with the correct form of adjective :

Anupam i$ .....coceeeernnn.oon, Doy in the whole of the class,
A the tallest (B) the taller
Q) Lhe most tall (D) the more tall.
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Pick out the sentence which has the same meaning as the following :
The last question was the most difficult question.
(Al The questions were very difficult.
(B)] The last question was more difficult than any other question.
(C) Some questions were very difficult.
(D) Only the last question was very difficult.
The father said to his daughter, “When will you return ?”
In Reported Speech the above sentence will be :
The father asked his daughter
(A)  when she would return ? (B) when would she return ?
IC}) when she will return. (D) when she would return.
The teacher said to the students, “Be polite in your speech.”
In Reported Speech the above sentence will be :
The teacher asked the students
(&) to be polite in their speech. (B) that be polite in their speech.
(C) to be polite in your speech. (D) that be polite in your speech.
My neighbour said to me, "I am going out for a few days".
In Reported speech the above sentence will be :
My neighbour told me that
(A) he was going out for a few days. (B he is going out for a few days.
(C)  he will go out for a few days. (D) we are going out for a few days.
The word ‘magnificent’ is similar in meaning to
Al very large {B) grand
(C}] huge (D)  royal.
The word ‘bliss' has a meaning similar to
(&)  bhappiness (B) anger
(C) darkness (D) innocence.
The opposite of ‘'similar’ is
(A)  unsimilar (B) insimilar
(C) different (D)  near.
[T | PT.O.

https://www.pyqonline.com


https://www.pyqonline.com/

L-1
52.

54.

55.

56.

58.

[9;1
©

60,

18

The word ‘approve’ is opposite in meaning {o

»

(A} confirm {B)  reject

[C) accept {D) return.
Pick out the word which is spelt correctly :

(a) sinceerly B sincierly
(C) sincerly (D) sincerely.

Which of the following words has correct spelling ?

(&) knowlcge {B) knowledge

(C) knowlidge (D)  knowlige.

Which one of the following words begins ( underlined ) with a different sound 7
(Al kite (B) cool

(C) chemistry (D) city.

Point out the word which ends in a sound ( underlined ) different from that in other
waords :

(a) who (B) flew
(C) slow (D) shae.

Identify the word in which the middle sound ( underlined ) is different from that in
other words :

A seen IB) hit
(C) heat (D) brief.
Which one of the following words has a different sound ( underlined } at the

beginning ?

(A) sure (B) cell

€  sel - (D)  psychology.

Point out the word which has a different sound ( underlined ) at the end :
() laugh (B) graph

(C}  high (D) bhalf.

In which one of the following words do the letters ‘th’ have a different sound
{ underlined ) ?

(a)  this (B) that
(C) there (D) thin
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SECTION - III
LANGUAGE II
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Which one of the following words is an adjective ?

(A) Use (B) Useful

(C) Using (D) Usefulness.

Complete the following sentence with the correct option :

My grandfather walks very ...............c0uve.

(A) quick (B) fastly

(C) fast (D}  nice.

Which one of the following has a correct sentence pattern ?

(A)  She put all the bocks on the table. (B} She all the books on the table put.
(C} She put on the table all the books. (D) She on the table put all the books.

Choose the correct pronoun to complete the following :

This book iS ..ovveeviiinininnns , and that one is mine.
[A}]  our book (B) your
{C} yours (D) yours book.

Choose the correct word order :

(A) Why she did leave so early ? (B) Why did she leave so early ?
(C) Why did so early she leave ? (D) Why so early did she leave ?
Pick out the correct sentence :

{A)  There are shop near my house. (B) There is shops near my house.
(C} There are a shop near my house. (D) There is a shop near my house.

Select the correct form of the verb ;

She ....coovviininnn. the right answer.
(A) knows (B) know
(C} is knowing (D) known.

AT 101 [ P.T..

https://www.pyqonline.com


https://www.pyqonline.com/

L-1
68,

69.

70.

71.

72,

73.

74,

44
Fill in the correct form of the verb :
When the phone rang, we ..........c.veeeeee... television.
(A)  watched (B} are watching
(C) were watch (D)  were watching,

If Radhika had received an invitation, she would have gone to the party.
The above sentence tells us that Radhika

(A) did not receive the invitation (B) had received the invitation

(C) 1is waiting for the invitation (D}  did not want to go to the party.

Fill in the appropriate determiner :

The ring is made of ..................... gold.
(A) the (B) a
(C) x [ no determiner) D) any.

Complete the sentence by putling an appropriate determiner :

You should always carty ........................ umbrella with you.
A a (B) an
(C] any (D) a few.

Manyjit said to Anisha, "Could you piease open the window ?”

In the above sentence Manjit is

(o) asking a question (B) giving an instruction
(C} offering advice (D) making a request.
No other member in the family is as intelligent as Raju is.

The above sentence has the same meaning as

(&)  Raju is intelligenter than any other member in the family

(B) Raju is not intelligent

(C) Raju is more intelligent than any other member in the family

(D) Other members in the family are not intelligent.

Complete the following sentence with the correct form of the adjective :

TE WAS tvreeriiriiireieerieniaennes car he had ever driven.
(A) the more comfortable {B) the most comfortable
[C} the comfortable (D) the comfortablest.
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Choose the sentence which has the same meaning as the following sentence :
Mahim got a higher grade than any other student in the class.
(A) Mahim got the higher grade than any other student in the class
(Bl Mahim got a high grade than any other student in the class
(C) Mahim got the highest grade in the class
(D) Mahim got the high most grade in the class.
Mohan said to Savita, “Can 1 borrow your book for a day ?"
In Reported Speech the above sentence will be
Mohan asked Savita
(A}  if he could borrow her book for a day
(Bl  if they could borrow her book for a day
(C) that could he borrow her book for a day
(D) if that he could borrow her book for a day.
She said to her brother, "Do not buy mangoes.”
In Reported Speech the above sentence will be
She asked her brother
(A to not buy mangoes (B) not to buy mangoes
(C} do not buy mangoes (D) do not to buy mangoes.
The students said, “We want to learn a foreign language.”

In Reported Speech the above sentence will be

. The students said that

{A)  they want to learn a foreign language
(B} they wanted to learn a foreign language
(C} we want to learn a foreign language

(D) we wanted to learn a foreign language.

The word ‘courtecus’ is similar in meaning to

(A) related to a court (B) impolite

(C) polite (D)  kind.
Which word has a meaning similar to ‘significant’ ?

(A} prominent (B) magnificent
(C) efficient (D)  important.
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81. The opposite of the word ‘oplimistic’ is

(A} pessimistic (B) hopeful

(C) ideal (D) dull
82. The word ‘innocent’ is opposite in meaning to that of

(A}  clever (B) ignorant

(C} active (D) guilty.
83. Pick out the word with the correct spelling :

(A)  varaity (B) varietey

(C) varieti (D) variety,

84. Which one of the following has the correct spelling ?

{A)  impresive (B) imprescive
(C) impressive (D) impressiv.
85. Point out the word which begins with a different sound ( underlined ) :
(A)  house (B) home
(C)] honour (D)  hen.
86. Which one of the following words ends in a different sound ({ underlined ) ?
(a) city (B) sky
€ by (D) try.

87. ldentify the word which has a different sound [ underlined ).in the middle :
Al foot {B) should
(C} wood 18] food.

88. In which one of the following words does the letter ‘i’ have a different sound
( underlined ) ?
(A} finish B) final

(Cr fit @)  film.

89. Pick out the word in which the letters ‘ch’ have a different sound { underlined ) :

(A) check (B) chess

(C) chemical (D)  chairman.
90. Which letter of the word ‘comb’ is notl spoken ?

A) ¢ (B) o

€ m (D)
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73. 'H@ ®iZ w3’ e o

{A)  wed fae semEE (B)
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74. ‘wigq 9o i’ freng o

(A} HEA B

(C) "HHdA (D)
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[ pa aw (D) wTFa g
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A) 2= 3w (B) aT=EE
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(A) W FIEm B wErH eHum

() wamt deroe (D} HI 3TEAW |
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49 : I
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fer ¥ féw a5 30 ymm 951
A'S YA wgel a5
61. 8w ¥ F 9 g s9eHw wpnw faod) &8 faor e 39
(&) w9 B) HuZ#
(C) wiaw Zwt (D) =<ts 2wt
62. AT niyg &8 057
(A)  um B) 9%
(Cj 35 (D} @
63, UAHl @ migaTRa fenins fad os?
(&) Uw B) T9
cy f3= (D) @
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{A)  ®A (B) s
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(A) e B) A=z
(C) o (D) =
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75. fau= wae ‘mole’ waw e AvweEw 50t 37
(A) =T (B)  fram
(C) == (D) fem
76. ‘mHlT’ maw v fedul maw faom =i 37
(A)  Ffrmr-yfamr (B) s
(C) ardta D) =S
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€ dafT (D) mis
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vis : I
SIS |
araidl

2L visui §a 30 usall 8,

£25 Uedtell yatol 2audl s2021qa 8.

ol2loll ulF2de aizxllad 61 2ll 65 Uscllotl raiol 2xiul.

udcl azatie usau ugdlell udlell Wem 2PiE WA ¥olael oltn « ugepn Bsst udl ma ! wélen
seisepiiell suadl it suuel 2saserd As15R w2 B, cdvid dl v pitna B, diud
v 2031 i1 A AL ML A2t 2qai S 1.

A abbd 69 HIS2Ael Vi B, [sud Goucu-Rrauna amsudi sdla dott Bimerd Hilds
digei vueai 8, yer avldl HvilBadied ugliA Watedl s vl 8. aubhqrA Hidd 2dgfdd 212
8, 2uadl 8 ad [Asdl 8. cuzdla Aeglcel ol 24t g el elo) did 8. wiell o Waeyda
B ?

QGL-2UEolld Bga St12, Vool AR 2o, dviell nd HWNA Gealllid S2e2 dl el
L US 7 bq ! [Qzeell destid Hlsuz azaud 2td Bieetell umlad Mell dzellon 52, sldnlad g6,
BE, 221, 2fd, And, AeuHi 21 eeifidl DAVl B, He15[Q SUHERA Nagd’ Hi asvdl (@6
@eylal Gcse Ad @sa 53 8. s vz Hdel dl 5Qdiel Glae 1ol ! ugli-yauoa Baotdd
dsust, 201, IRy el Adstoll glael i sbgeli siRe 8 !

dldeti Vi o ugrt sloll 2010 (3551 usl wma & 7
(A) azale (B)  wéldll 2pia
{C) eavua (D)  esasel.

WdaPid Sld 21wy B ?

(A) eixgla (B) Qbi-ieal
(C) well (D} uélell 2poita.
AL uReBedi 56 g Hecdodl el 8 7

(A)  aul (B) B

(C) &a (D}  agzid.

agivell [Aresals] avle i a2 & 2
(A) g6l (B) B9E
(C) Auga (D) arRow.
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(C) vadl (D) umefl.
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67 L1
Section -IV @S - IV
MATHEMATICS / ifura
There are 30 questions in all in this section.
All questions are compulsory.
WERHFH 30T E |
alt uyd aifard €

91. Write the following four numbers in descending order :
I. 4203567
II. 4203657
III. 4203756
IV. 4203675
A I II, 1M, TV (B) I v, I, 1
(C) I, I, TV, 1l (D) oI, 1. IV, L
frefefes =R densd 1 seiel w9 ¥ fod
L. 4203567
1. 4203657
1. 4203756
IV. 4203675
(1Y LII, II, TV (B) mr, v, 1, 1
(0] I I IV, 1 (D) I, I, IV, L.
92. One crore is equal to
(A) 100 Iacs (B) 1000 lacs
{C) 10 lacs (D) 100 thousands.

T FUg T

(A) 100TEF (B) 1000 o1& %
(C} 10T ®H (D) 100 B9 &% |
LT 101 - [ P.T.0.
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93.

94,

95.

o3 &

The number 5 crores 9 lacs 4 thousands 9 hundred eighty-eight in numerals can be

written as
(A) 59004988 (B) 590400988
(C} 509049088 (D) 50904988,

T 5HUS 9TE 4 ¥ 9 Ht 2rEt i i # fomy v e 2
(A} 59004988 (B) 590400988
(C} 509049088 (D) 50904988.

The population of a village is 78692. Out of which 29642 are men and 28167 are

women and the remaining are children. Then the number of children is

A}l 20883 (B) 21883

(C) 20893 (D) 20783.

TF 9 ® 9 TIEESN 78692 % 1 T A 29642 %9 ¥, 28167 W E awm v w=w ¥ 1 Al
o=l B Tem §

P\ 20883 (B) 21883

(C) 20893 {D)  20783.

If we divide zero by 60. then the dividend. divisor, quotient and remainder are

respectively
A} 0,60.0,0 (B) 60,0, 1.0
(C) 0,60, 01 (D) 60,0.,0, 1.

YA H 60 F W A W WY, o, IIThel T A9FSA Hav: §
(A} ©0,60.0 0 (B) 60.0.1.0

(C) 0.60.0.1 (D) 60, 0, 0, 1.

WRATEENALI 101
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96. The value of 15 coins of 25 paise each is equal to

I. 3 coins of one rupee + 1 coin of 50 paise + 1 coin of 25 paise
I1. 2 coins of one rupee + 3 coins of 50 paise + 1 coin of 25 palse
II1. 3 coins of one rupee + 3 coins of 25 paise
IV. 3 coins of one rupee + 2 coins of 25 paise.

In the above four, the wrong statement is

(Al 1 (B) III

cy 1 (D) V.

2587 F 15 faeel 1 7w ¥
1. TE %o F 3 fagw + 5098 =1 1 fagm + 2518 &1 0= fagm
1. &% & 2faeF + 5010 F 3faeF + 2510 =1 = feaam
. TH %o F 3fash + 250 F 3fass
V. T&%o ¥ 3faad + 2500 F 2fqar

ITYH 9 H | Ted FuA §
@A I (B I
i 1 (D) IV,
2 1 3
97. The arrangement of the fractions 9- 8 34 m ascending order is
2 1 5 3 35 1 2
W g.3-8" 2 ® 1.8 39
1 3 5 2 2 1 3 5
© 3.%7-8'9 @ 5.3 78
.2 5 1 3
2 153 3 5 1 2
W g-3-8'12 B 2.8 3 3
1 3 5 2 2 1 3 5§
© 3-2-89 ® 9 -3 32 8"
IATRRTRRH 7101 ] [ P.T.O.
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98. If the cost of 5 pencils is 33 rupees then the cost of 2 pencils is
3 3
{A.] Re. a [B:’ Rs. 5

(C} Rs. % (D) Re. %

afg 5 ifwel & g 32 %o ¥, @ 2 Ifel @ gew B

(A g'{?o (B} g'{?c
© 5w O 2%
99. Which of the following statements is true ?
(A) 1 is not a prime number (B) 1 is a prime number
(C) 1 is a composite number (D) 2 is not a prime number.
fAaddsR-wsFR ¥ ?
(@A) 139 Hem 78 § (B 13w e R
() 15gsIEE (D) 2 39T & TR §
100. The prime factors of the number 720 are
{A) 2x2x3x3x2xH (B 2x3x4x5x6
() Ix3x4d4xd4x5 D] Zx2x2x2x3x3x05.
& 720 F A9 UHES §
{A) 2x2x3x3x2x5 (B) 2x3x4x5%x6
Q) IJx3x4x4x5 D) 2x2x2x2x3Ix3I x5

UL (101
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101. What is the highest common factor { HCF ) of the numbers 425 and 476 ?
A 4 (B) 5
c 17 (D) 51.
IS 425 7Y 476 H1 HETH GHIGIHS ( Ho Ho Yo) ¥
(Al 4 (B 5
i 17 (D) 51.
102. What is the least common multiple { LCM } of the numbers 90, 60, 75 and 35 ?
(A) 2700 (B) 6300
(C) 4250 (D)  2750.
& 90, 60, 757U 35 % AYAH AR ( To Ho Yo )
() 2700 (B) 6300
(C) 4250 (D)  2750.

103. Five persons paint a house in 3 days when they work 8 hours everyday. Then if one
person works 4 hours everyday, how much time ( day ) will he take to complete the

same work ?

15
(& 30 (B) 5
6 3
(C) 5 (D) 10 -

TEF 9FE & q@E 5w, 86 U9 FH FF 3T A Fw@ & @ 1 =fw, 4 ve W9 I oFHF
IW FW &t fem fq # som 7

(A 30 (B) ?
© ¢ D) =
A 101 [ P.T.O.
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104. The marks obtained in 4 subjects in an examination are 200, If the average of marks

obtained in 3 subjects is 48, then how many marks are obtained in fourth subject ?
A 50 (B) 144

(C) 152 (D) 56.

TF Wil 4 IR fauaf | wm F siw 200 ¥ | aft A= fawal | um i w1 ofwa 48 % @t =ha
fawa o wmm ofF ¥

W 50 (B) 144

() 152 (D}  56.

105. A person sold a cycle at Rs, 935 with a gain of 10% then at how much amount did he

purchase the cycle ?

(A) Rs. 945 (B) Rs. 850

(C} Rs. 925 (D) Rs. 1,085.

UF e A TF 9RfFT 9350 § 10% TNY W I9 dt T a8 gfad o To ¥ G 41 7
(A) 94570 (B) 850%¢

@ 925%0 D)  1.085 %o |

106. A person took some loan from a bank at the rate of 15% annual interest. Il he pays

back Rs. 7.250 after 3 years then what is the amount of loan ?
(A) Rs. 5,000 (B) Rs. 4,500
(C) Rs. 6,500 (D) Rs. 5,500.

wF =afh A % | FO 9 15% it =5 & R 8 I3UR foar | o @R |e 9% 98 7,250 o
aifes s €, @ 38 e v 3un fam @ 2

(A 5.000%0 B)  4.500%0
© 6500% D) 5.500%o |
UHHHTN 101 |
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107,

108.

109,

73 L-1
What is the Interest on Rs. 500 for six months with a rate of interest 8% calculated six

monthly ?
Al Rs. 20 (Bl Rs. 30
(C) Rs. 48 (D) Rs. 40.

500 To H 6 HEH &1 8% i BHEI < Y =419 &I
(A 20%0 (B] 30%0
IC] 48%e (D) 40%Fo |

A person X sells an article of Rs. 100 with a loss of 10% 1o the person Y. Y sells it at a

gain of 10% to another person Z. What is the price at which Y sold the article to Z ?
(Al Rs. 100 (B) Rs. 99
{C) Rs. 110 (D) Rs. 101.

TF ARG X, 100Fe Fl agF, 10% H A A AT Yy RMITIME ) Y IH TR 10%
AV A AT ZHI AT IWR, @ v I F9 [ W z B 9= 2

A 100 %o (B) 99 %o

(C) 110%Fe (D) 101%0 |
Which is a plane in the following ?

{A)  Paper sheet (B) Glass

{C) Ball (D)  Cylinder.

o gl § @ - T E 2

W wS |) frems
) Tig (D) oA
INAEETREIER R 101 | P.T.0.
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110. Which of the following statemenis is not true ?
(A)  The figure formed by two rays passing through a point is called an angle
(B) A closed figure formed by three line segments is called a triangle
(C) A figure formed by three lines is called a trlangle

(D) In a rectangle the length of opposite sides is same and each angle is a right

angle.

= 5 @ 9 s FE ® 2

() fFd o fag @ o T 2 fron @ = o & wo wed ¥

(B) Tt dta Yaravel | i g8 o= ol # iy wea &

(€) faeT o= renstl A ot agfa = fayw wea §

(D) 3TFd & AA-[EA & A 1 TR GHE Eal & a9 GdF D9 GHS gar § |
111. Which of the following s true for a triangle ?

(&)  All the angles are always acute angle

(B) One angle is always a right angle

(C) One angle is always an obtuse angle

(D) One angle is always an acute angle.

fFRi s ids-asmamt ?

(A)  EHE H W A BV eI §

(B) UF IV H2d WAHI Bl &

(C) UF M [ AfuF =W TN

(D) T HIW Fea A HIEME |
U _101 |
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112. How many triangles are there in the following figure ?

A) 5 (B) 4
€ 3 (D) 6.

fire ot ot ot & 2

AN

4 b5 B 4
c 3 D) 6.
113. The sum of all interlor angles of a square is

A 180° (B) 360°

ic) 270° (D) none of these.

T & = A= BT DT Era &

(a) 180° (B) 360°
(€ 270° D) TAH A= =
MR TNRHRTH
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114, Which of the following statements is correct ?

115.

(A) A square is a particular type of rectangle
(B)] A rectangle is a particular type of square
(C) Every ray is a line segment

(D)  Straight angle is of 90°,
fAaddsh-arsr g d ?

(&) =1 T fad wehR w1 SiEd g @

(B) amad U fady whr w1 91 g €

(C) v fortor T T@ravs T @

(D) 9 / VLA H9 F! 59 90° gl & |

One has to run 250 metres to take one round of a ground. A girl has run
75000 centimetres. Then how many rounds has she taken and how many rounds

more will she have to take in order to complete a run of 3 kilometres ?
A 3.9 (B) 30, 90
(1 3,90 (D) 30, 9.

forelt em &1 o TR T 250 T e Tem ¥ 1 TF wgeht 75000 1 g T & (7 9
fm st @ 3 3 fidt &1 I 1@ 3 & forg 38 iR feed 99w @A g 2

A) 3.9 (B) 30. 90

() 3,90 (D) 30, 9.

(LT (101
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118.

77 L-1

On subtracting 8 metric tonne ( mt ) 50 kilogram from 12 metric tonne 8 quintals we

get
(A) 3 mt 8 quintal (B) 4 mt 7 quintal 50 kg

(C) 4 mt 8 quintal 50 kg (D) 3 mt 8 quintal 50 gm.

12 Hifgw 27 gfaa=a # ¥ 84ifgF =7 50 fFeim W W W g #

(A} 3w = gfeew (B) 4dfgw 27 7 faEead 50 fee wm

(C) avifgsd 27 8fa@ea 50 fFen W (D) 3difew == 8faden 50 faat o

A tank has 400 litre water. 1f 12 litre 500 ml water is used from it and the remaining

water is filled in 25 cans of same capacity, then what is the capacity of each can ?
(A 12 1t 500 ml (B) 13 1t 500 ml
(C) 15 1t 500 ml (D) 14 1t 500 ml.

TH I H 400 AR TAT § 1 360 |/ 12 FR 500 el ot &m & &9 & o 919 =
A & & 25 fesml § vu 9 @ yaE fe= & aman ®

(A) 12%t 500 faet (B) 131 500 fas
() 15t 500 fuet (D) 147 s500fE= |

Which of the following statements is incorrect for the time taken by big hand of a
clock to reach from one digit to exactly next digit ?
(A) 5 min (B) 300 sec

(C) 12 hour (D) one hour.

1

wg) W 981 g ¥ foedl ofF Q i ol o T e § @ 9@ 9va & fae fm d @ s
T ?

A sfime (B) 300 9%-<

(C) 'l"z'ﬂla (D) T& g |

ILPRLIL 101 [ P.T.O.
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119. The length and breadth of a rectangular field is 60 m and 40 m respectively. If on the

outer of its four sides the grass of 5 metre width is planted, then the area of grass

planted field is

(A} 1100 m (B) 525 sq.m
(€) 1100 sq.m (D} 525 m.

T AMaTHR BEH &1 T 60 W ad deE 40 § ) IWH AW R 9ed T 5T HerE |
U 01 W14 d 9 S aiet 9T 1 SRS g

Ay 1100 (B) 525 Tt
(€ 1100a7 (D} 525 |

120. A rectangular photo frame X is of 90 cm length and 70 cm width and a square frame Y

is of side 80 cm. Then which of the following is correct ? https://www.pygonline.com
(A)  Perimeter of frame X is 6300 sq.cm

(B) Perimeter of frame Y is 6400 sq.cm

(C) Perimeter of both X and Y frames is same and is equal to 320 sq.cm.

(D) Perimeter of both X and Y frames is equal to 320 cm.

TF JEaER o9 & %0 X &1 @ 90 ®9 aor g 70 #6t € o T anfeR %R Y& 9e
oM AfAdiasa- s g E ?

(&) WW X % 9fEe 6300 97 At @
(B) %W Y % 9fAT9 6400 F1 T=r W
() F FH X 9 Y 1 9fae sOEt @ 320 79 @9 g

(D} 2 HE X 9 Y& 9o 320 99 & FuEt g
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SECTION - V
Qg - v
ENVIRONMENTAL STUDIES
TaierRuT 3T

There are 30 questions in all in this section.
All questions are compulsory.
EE HFa 307 €
[t v sfEd ¥

121. Nuclear family refers to
(4)  any family born after 1950

(B] family includes parents and their children

(C) entire family including children, their parents and grandparents

(D) only husband and wife.
e IfER | aad §

(A) 99 1950 % &g =91 9RER
(B ufEr faad am-fua @ 3=9% a=
© =gl ofEr faad a=, 37 Am-fua @ SR1-TEt
(D) Faa qfd-geit |
122. Tobacco addiction is due to
(A) Cocaine (B) Caffeine
(C)  Nicotine (D)  Histamine.
T=IE &1 aied fove | gt & 2
(a)  HrHA (B) &M
() freifea D) feed=

UL (101
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123. What are the minimum ages for marriage of boys and girls in India ?

(A) 21 years and 18 years
(B} 18 years and 21 years
(C) 18 years and 18 years
(D) 18 years and 16 years.
9qd 9 T1ge 9 erefedl wi foaw dva Jraw g e ¥ ?
(A 21997 1899
(B 18=dd 2199
(© 18347 189
(D) 18=¥F 1699 |
124. Main occupation of people of Rajasthan is
(A)  mining (B) bakery
(C] poultry farming (D) agriculture.

TR & Sl o qed SHadd §

W = B &=
(C) e (D) FM |
125. Which of the following places of Rajasthan does not have sugar factory ?
(A) Keshoraipatan (B) Nimbahera
(C) Udaipur (D) Bhoopal Sagar.

o § 7 U e WA | e 90 & R TR 2
(A)  HIETIURA B frams

(C} T (D)  Y9iel | |

I 101
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126. In case of fraud or unfair business behaviour, we should lodge a complaint at
(A)  Consumer Protection Forum
(B} District headquarters
(C) Tehsil
(D}  Gram Panchayat.
M Ay FAMG S HaeR & T §H FHEd S Fifey
(A)  STVIHT IO HE
(B) foten weae #1
(C) wEd H
(D) W 9= w5 )
127. How many members of Rajya Sabha are nominated by the President ?
Ay 12 (B) 18
{© 20 (D) 22.
gt g oAt H R wee wAqa € § 2
w12 B 18
€ 20 (D) 22,

128. District industry centre provides employment to urban and rural youths under a

scheme known as

(A)  Prime Minister's Gramin Sadak Yojana
(B)  Prime Minister's Rojgar Yojana

(C) Jawahar Gram Samriddhi Yojana

(D) Swarna Jayanti Gram Swarojgar Yojana.

UL (101 [PT.0.
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foren sEim &= foFa Ao % 9gd 9ed T ar gaal ) AR g S ¥ 2

(A) Wy wTEr g G

(B) WYTAHS TR A=t

() “Ewt 7 |gig g

(D) &Y JEE ITH @RISR ST |

129. Which country has the maximum number of tube-wells in the world ?

(A)  America (B)  Australia
[C) China (D)  India.
HER ¥ Afuhan mEaw fFaim § R 2

@  anfE B)  smEfe
€ == (D) HHA |

130. The Gangaur festival is celebrated on

(A)  Chaitra Shukla Teej

(B} Shravan Shukla Teej

{C) Bhadrapada Krishnapaksha Ashtami

(D) Chaitra Shukla Navami.
TN &1 TR A S §

A = YEe T S

(B) G Y&A @ HI

([C) STEYE Fo9e JEH &

(D) <% YA TEHE HT |

AT (101
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131. City of Lakes in Rajasthan is
(A)  Jaipur (Bl  Jodhpur
(C) Udaipur (D)  Ajmer.
Tt F st it AR
A IR (B) SR
(C) AW (D) HFHT |
132. Who built the Vijay Stambha ( Tower of Victory ) ?
{A) Maharana Kumbha (B) Maharana Sanga
(C] Maharana Pratap (D) Maharaja Jaisingh.
oo vy foF aAam@n ?
(A)  HETUUT FE (B)  WEWIM HimM
(C) HEWv wary (D) HERTS vafEg |

133. Following traffic sign indicates :

(A) Major road (B) Pedestrian crossing
(C) Railway crossing (D)  Narrow bridge.
U (101 | | PT.O.
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Fr=ifera amamam d%a @ ad #
) TEHEEIH (B)
(€ Y= swIfEm (D)
134. Full form of ATM is
(A)  Automated Teller Machine
(B) All Time Money
(C) Automated Transfer Machine
(D)  Audit Teller Machine,
Ty O EY
(A) ATERE e WA
B) 3T I HHI
() sAHES FiEw 99
(D) Hife2 JER HIHA |
(U 101
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135. Message sent by computer is known as
A} SMS (B) FAX
(C) E-mail (D) Telegram.
FEGR F AEAH § IS T G Wew F FEd §
A TETHTH B &
© ¥8= (D) =M

136. Carrier of Dengue disease is

(A)  Aedes mosquito (B) Culex mosquito

(C) Housefly (D) Anopheles mosquito.
2 I F awS ¢

(A) T =Y B) FOEE West

(C) R Tl (D)  wAfwfEs w1

137. The biochemical laboratory of human body is
(A) stomach (B) liver
(C) intestine {D)  kidney.

wIe % TR & SAF-EEtE yEmmen ¥

VI (B) aFd
(C) 313 (D) TIF |
(N 101 | [ P.T.O.
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138. Aim of Pulse Polio programme is

(A) treatment of Polio

(B) stop paralytic effect of Polio

(C) complete eradication of Polio

(D) all of these.

ToH Qferdl FTdwH &1 329 €

(A) el w1 SYER

(B) WIfeE § I dHA FAFA

(C) iferdl %1 wegel I™ge FHE

(D) T8 4 Tt |
139. Kashmiri Gown is known as

(A)  Firan

(C) Bugtari

FYR =M Fewra €

@ f&E

(€ TRt
140. Habitat of Dog fish is

()  River

(C) Lake

F1 Aol 1 AEH &

@y T

© #a

(B)

(D)

(B)

(D)

(B)

(D)

(B)

D)

T 101

Angrakhi

Achkan.

HEHT |

Pond

Sea.

R |
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141, Full formn of CNG is
(A) Common National Gas
(B) Compressed Natural Gas
(C)] Common Natural Gas

(D) Certified Natural Gas.

et &1 qu § 9 §

(A) EA TS
(B) TR AT 14
© A AgEa |\
(D) wféwee Fga |

142, Wildlife Week is celebrated on
(A) 1st October to 7th October
(B) 15th October to 21st October
(C) 1st June to 7th June
(D) 15th June to 21st June.
9= Sfi9 §HE TAE S §
(A) 1R 7 SRR TH
(B) 153 | 21 3 TF
© 1SFATFATH

(D) 155AH 21 A TF |
TR | P.T.0.
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143. Stiate tree, state bird and state animal of Rajasthan State are

(A)  Khejari, Godawan, Chinkara
(B} Khejari, Peacock, Tiger
(C) Babool. Godawan, Lion
(D} Mango, Peacock, Tiger.
R T & T4 g1, To9 9&f qe 99 5 Hav: §
(A w9, TreE, fHEm
(B) WSl UR, °H
(C) =9ad, MeE, I
(D) o™, §9R, &
144. In which state of matter, the distance between the molecules is minimum ?
(@)  Solid (8)  Liquid
(C) Gas {D) Plasma.

e i fFm saen § el % "ea & gt =gAaR gt @ 7

(a 3E B 7=
© (D) T |
L 101
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145. Which state is known as Tiger State’ ?
(A)  Rajasthan (B} West Bengal
(C)  Gujarat (D) Madhya Pradesh.
HH-F T TR R F AW R A TR 2
(a) TEEYE (B)  ufyem e
(C) T (D) WEWRY |

146. Which of the following has maximum speed ?
{A]  Air (B) Water Current
(C) Sound (D)  Light,
freafafea o feas an fuwamn & 2
@) = (B) WY
(€ = (D) W |

147. Which energy is converted into electrical energy by a solar cell ?
(&) Chemical energy (B) Nuclear energy
(C) Solar energy (D)  Magnetic energy.
&9 g fohm ol 1 foagge ol § agen o1 wwa@ § 7
&) TEEEE F9 B) AfaEg Fe

(C) wEw T (D) A F

IR (101 ( PT.O.
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148. Maximum amount of gas found in air is
(A)  oxygen (B)  carbon dioxide
{C}  hydrogen (D} nitrogen.
T ¥ walfus wen § wrdt o a el ¥
(A)  siiEdeA (B) FTEA SRS
(C) wrEgA (D) A |

149. Renewable source of energy is

(A Coal (B  Petroleum
(C) Plants (D) Uranium.
FHel 1 ARG EHid #

(A)  =FrEe B) Efaaw
© 99 o FfEe

150. Ozone layer is found in

(&)  Thermosphere (B) Stratosphere
(C) Troposphere (D)  Mesosphere.
I T foerdt @

(A wdfeRRr (B) W A
() FrdewrER (D) faEreEER |

(LR 101
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INSTRUCTIONS / ﬁj;l
{ Read carefully and comply / = A 9 3l wraT =¥
IMPORTANT n'

1. In Secuon It {Language 1) a candidate has to attempt the questions of the language which the candidate has sclected as |
Language T in the Onhne Application Form.
@E | (9 1) o IS 9 % wEl W ge s A ¥ faw urn 3w anadt 3 urm 0 F w0 ofEnE adea T3 | e b
2. In Section I (Language |} a candidate has to atiempt the guestions of the language wl‘uch the candidate has selected as
Langu ‘Ec 1lin Ehe Online Application Form. The Language IT will be dilferent from Langua,
‘uﬂrﬁmaﬁaﬁtmwwwm:rmmnﬁmﬁmhwfnmﬁmtIW| anm ;) # fom w0f

TE N

3. The candl.d.ate musl ensure that the Question Booklet No. has heen filled correctly at the prescribed places in the QMR Answer Sheet
e givan #t % omr ¥ § fuiia w0 w 799 g wee a0 an b

1. Read complete instructions carefully and fill the details from Sl. No. 1 to 6 in the OMR Answer Sheet and S1. No. | 10 4 in the

Question Booklet. If you fail to fill the details and sign as instructed correcily, you will be personally responsible for the
consequences arsing during scanning of your Answer Sheet.

il #t gt w9 @ 9 #R FUE | W 6 9F OMR WIZ UH FHE | ¥ 4 AF TS [ (qeiz) B Wi 9 o v a2
oo 7 FwIER € T oMR Tz ¥ B F wereawy w1 G gfionet & ufa am = seat 8t

2, OMR Sheel Mo. should be written in the space provided in the Question Booklet.
OMR ¥i1Z Fg1 wvA fea A < 1t Fraifea Tem ov ferdlt e afed s

3. The Question Booklet comprises 96 pages having 150 questions, After being instructed to open the Booklet, only then the candidates

will open the Question Beoklet seals. Check whether the Booklet contains 150 questions sta.mng from e Mo. 3 ta 90,
m%ﬂﬂ%fﬁ@nﬂmiﬁmﬁﬁmﬁ&aﬁ#mﬁmgﬁaﬂ qﬁ?ﬂﬂmﬁhﬂmqﬁﬂmﬁ
150 W § =it i 7 dem 3 & wwew #1990 7 )
4. All questions are ¢f MCQ [Multiple Choice Queluoml ty'pc There is only one correct answer to each question carrying one
mark There will be no nagl.tlve murking for
R % tlmmwﬁ&mﬁﬂﬁtrmmﬂiﬁaﬁﬁqﬁﬂ 3% U ¥ TR WA & ford womers o

ft ﬁﬂ
5. All quuuenl other than language questions of Bections [l and LI lh:u be bilingual.
¥ UR ¥ W vy 109 m ¥ wyl & et ve et st & aye fipmdtg 70t
6. In any event of any mistake in any guestion/s, candidates will not be penalized. However no corrections will be made in

ucsa-on,’s durin thc examination, ) . B
f?rm % ford wimmdt =t fet werre =t e =6 80 oten T arafis ® wvel o fedt wew w Ay T8 war o
7 Rough wurk if any, may be done in the Question Booklet only in the space provided at the end of the Bocklet. Do not tear it off

from the Question Booklet. No additional paper shall be provided. -
farall WP % 1% B &g WA R 6 9 W 3 & T 2w & owv e @ T wid fealt wew w afefors s geee @

FEa) AEMI

8. Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any cther electronic item/finstrument ete. 15 not
allowed. Their use will result in disqualification, X
T 2Aw, , FARE ¥4, Aame w3 v, fadfee el o fedt s g o sdegifee Svemw /e W wai afaa B e
ITE O Tihen B U Qi e @ e £

G, OMR Answer Sheet will be prov:dl.d along with Questmn Booklel separately.
OMR ¥Z, 772 {&TE & W A e T

10 The Question Booklet will be issucd to the cand:dacc at 10:45 A M. and the candidate must fill all entries in Question Booklet

and OMR Answer Sheet. The Question Booklet scals shall be opened at 11:00 A M. Alter opening the Question Booklet, ensure
that any page/ question is not missing / not printed [ 1orn / repeated. In case, you find any defect anywhere in the Question
Booklet, immediately inform the Invigilator and get it replaced within 10 minutes by the invigilator. Warmning Bell will ring at
12:25 P.M. and the last long bell will ring at 12:30 P
aﬁmqﬁamm:luqaﬁﬁwﬁumm¢mﬁmmﬂtoxnﬁmﬁﬂ'\ﬂﬁﬁﬁztﬁaﬂm1m ¥ He
aﬂmﬁﬁmmnwﬁk a¥7 qfierel @ert % oyeEr e aeem o giafven wx S i ol P e ge £ o g A
Uﬂqn?hwwaaﬁmtmmw Tfﬁwh?lﬁm ¥ 59 TER w FH Jfe e e kA g dew w
qﬁmaﬂﬁmzofﬂzt\ﬁm gﬁ ST G2 AT 12-25 97 39 UA Hfm e HA B 1230 W

11 Wmc your Exam Centre Code, Roli No., OMR Answer Sheet No., Question Beoklet No., Name and put your Signature in the
space rovided in the Question Booklet as well as in the OMR Answer Sheet. . )
3 OMR iz R Pt M 92 7ihal = 1 FI3, T T5, OMR T #id, W g wai, 30 e 3 5 s #5t)
12 \-\-'u.h each questicn you will find 4 possible answers marked by the letters A, B, C & D. Read each guestion carefully and find
aut which answer, according 1o you 14 correct, Indicate your answer by darken:.ng the appropriate circle completely in the OMR
Answer Sheetl corresponding to the question. For marking answers use blue fblack ballpoint pen only. Gel pens / pencils are not
allowed

TeF T % A 4w 39 A, B, ¢ A n 4 5 W ¥ vl ) v @F W a W I F 99 F 36F I W OMR Yie § i
%Tﬁtmshﬂffrd'uﬁfrmwiﬁmummﬁﬂﬁtfﬂaﬁﬁmmm&amﬁmﬁlﬂahmﬁﬁhﬁwm
|

Correct method :| CORRECT / i Wrong method : | WRONG / TR WRONG | TTH WRORG | T WRONG / 7
QULE OQ0 @ ™. ROOO| 000 [Q000O Ce0e
13, OMR Answer Sheet is designed for computer cvaluation. If you do not follow the instructions given above and shown in the

OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account
shall be of the candidate only
ouarﬂzaﬂmmmsmmrwhuﬁmmmounﬁzﬁﬁﬁw&ﬁiﬁﬂwaﬁm at FgEy g
TR G HiEA g A | TR Fe @ Wied w #R et gear = e sas &1 o
14. No candidate should leave the Examination Hall before the final bell. The Queston Booklet as well as the OMR Answer Sheet
should be handed over 1ogether to the Invigilator before leaving the Examination Hall,
gttt sf=m

B2t @ & 4 1w § AR TR 9 W e W B1ed & 08 T # omMr Wi @ gv3 qfEaw G A dee
=) T AT
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